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CBT Sample assessment model answers

External Auditing (EXTA)

Sample assessment 1
Task 1

[image: image2.png]For each of the following circumstances, identify the most likely approach to be adopted by the external
‘auditor by selecting the appropriate option.

Circumstat

‘The audited entity introduced a new integrated
‘accounting software package atthe beginning of the
‘accounting period andis experiencing operational
difficulties with it

‘The audited entity undertakes a few transactions,
each of which is indvidually material

‘The audited entity has an intemal auditfunction
‘which routinely monitors operational and financial
controls.







Task 2

[image: image3.png]Identify whether each of the following is a control objective, risk, or control procedure in respect of a
purchases system by selecting the appropriate option.

{a) Purchasing unnecessary goods

[Risk

(b) Efficient use of working capital

[Control objectve [l

{€) Independent autnorisation of purchase orders by purchasing manager

[Control proceaure [l





Task 3

[image: image4.png]Complete each of the following sentences, relating to internal control, by selecting the appropriate option.

(a) One of the objectives of an entity's internal control system is to provide reasonable
‘assurance thatthe eniity is [operating effecively and effcienty [l

(b) The placing of restrictions on, and the requirement for the documentation of, smployee actiies so as to.

reduce the occurrence of ermors and deviations are known as.

preventaive controls. [l

(€) The system for identifiing potential events which could resultn  failure to achieve business objectives

‘and deciding on actions to address those potential events is known as the enii's [isk assessmentprocess. Jgl]






Task 4

[image: image5.png]‘There are two types of assurance engagement which a praciitioner is permitted to perform - a reasonable
‘assurance engagement and a imited assurance engagement.

Identify whether the following statement, in respect of an external audit, is true or false by selecting the.
‘appropriate option.

An external audit conducted under Interational Standards on Auditing is a reasonable assurance.
engagement.

[True





Task 5

[image: image6.png]‘The exteral auditor of Mezzo Ltd has used an intemal control questionnaire to assist him in his evaluation of
internal controls over the revenue cycle.

Identify, for each of the following questions and answers, whether the answer indicates a control o a
lack of control, by selecting the appropriate option.

(@)

(©

Are orders only accepted ifthere is suficient inventory to fulfl the order? YES

[Control

‘Are customers requiredto sign  copy of the despatch note when they take delivery of goods? NO
[Cockorconvol IRl

Does the Sales Ledger Clerk perform a monthiy reconciliation between the list o sales ledger balances
andthe balance on the sales ledger control account? NO

[Cockorconvol IRl





Task 6

[image: image7.png]Identify, for each of the following factors, whether itis likely to lead to the auditor assessing that there is
anincrease or decrease in control risk, by selecting the appropriate option.

‘The audited entity has 3 process i place for reviewing the effectiveness
ofthe entit’s intemal controls

‘The audited entity has recently brought payroll processing back in-house
after a period of outsourcing

‘The audited entity has a policy of separating the functions of authorising
‘and recording a transaction





Task 7

[image: image8.png]Match each risk mitigated to the internal control procedure by dragging the appropriate risk to the.
procedure.

Internal control procedure Risk mitigated

“The inventory system automatically generates purchase requisitions Stockouts

once an item of inventory reaches its minimurm reorder level. (running out of inventory)
Exception reporting of goods received records which do not have a Unrecorded liabiliies
corresponding invoice.





Task 8

[image: image9.png]Identify whether each of the following procedures is a strength or a weakness by selecting the.
‘appropriate option.

() The warehouse manager, who s responsible for the day-to-ay custody of the inventory s also.
responsible for the year-end inventory count.

[Weakness [l

(b) Staffare instructed to keep the movement of inventory during the year-end physical countto a minimum.

[strengtn





Task 9

[image: image10.png]Which TWO of the following may provide a plausible explanation for the fallin Bridge Ltd's trade payables.
‘payment period?

‘Suppliers' invoices relating to goods recsived in December 20X2 were posted to the ledger accounts,
in January 20X3

‘Suppliers' invoices relating to goods received in January 20X3 were postedto the ledger accounts in
December 20x2

‘Suppliers have extended the creditterms available to Bridge Lid

‘Suppliers have tightened the credit terms available to Bridge Ltd





Task 10

[image: image11.png]() Which TWO of the following will INCREASE a sample size for tests of controls by more than a
negligible amount?

AN INCREASE in

the tolerable rate of deviation

the expected rate of deviation

the number of sampling units in the population

the auditor's desired level of assurance that the tolerable rate of deviation is less than the actual
rate of deviation

‘The objective of a substantive test will dstermine the population from which the sample for testing is
selected.

(b) Identity, for the following objective, the population from which the sample should be selected by
‘selecting the appropriate option.

Obtain evidence of the completeness of cash sales.

[Tirrecoras [l





Task 11

[image: image12.png]Identify whether each of the following procedures is an analytical procedure, a test of control or a test of
detail by selecting the appropriate option:

(a) Comparing client data with similar prior period data.
[Analytical procedure |3

(b) Inspecting the work undertaken by the audited entiys intemal audit function.

[Test of control v

(€) Vouching purchase invoices to goods received records.

[Test of detail v




Task 12

[image: image13.png]Which TWO of the following procedures are the most suitable to test for overstatement of the sales.
figure?

R

Calculate the gross profit margin to ascertain whether ithas fallen comparedto the previous year

Trace pre year-end despatch records to pre year-end invoice entries in the sales account

Vouch pre year-end invoice enties in the sales accountto pre year-end despatch records





Task 13

Audit risks

Returns will require provisions for refunds to customers and increased provisions for warranties

These are estimates and as such prone to misstatement/May not be provided

Unsold inventory may now be worthless and will be overstated if not written down

Any development costs included in intangible assets may be impaired and will be overstated if impairment not reflected

Personal injury may give rise to legal claims for damages which may require

· provisions if expected outcome is probable
· disclosure of contingent liabilities if expected outcome only possible

The company may fail to provide/disclose by way of note

Adverse publicity may impact on going concern

· if uncertainty this may not be disclosed in the notes to financial statements

· if the company has to cease trading, financial statements may not be prepared on the appropriate basis (i.e. break-up basis).
Task 14

[image: image14.png]When testing transactions and balances, the extemal auditor will gain assurance about different assertions
regarding those ransactions and balances.

Identity, for each of the following assertions, the audit procedure that will provide assurance on it by
‘dragging the audit procedure to the appropriate assertion.




[image: image15.png]Assertion Audit procedure

Inspection of impairment reviews undertaken by
the audited enity's management

Valuation

Inspection of terms and conditions

Classification within a lease agreement

Inspection of a suppliers invoice

Cut-off for the date of the transaction





Task 15

[image: image16.png]Identify whether each of the following statements, in respect of computer-assisted audit techniques.
(CAATSs), is true or false by selecting the appropriate option.

An integrated testfacility involves introducing a ficttious entity
into the audited entity's computer system and the running of test
transactions on the records relating to the fictious entity.

An advantage of the use of CAATS by an extemal auditor is that it
permits the examination of arge volumes of information
stored on an audited entitys computer fles at great speed.

‘The comparison of data on personnel and payroll master files to
verify consistency is an example of how an external auditor may
use fest data.






Task 16

[image: image17.png]Identify whether each of the following factors would be likely to cause the auditor to exercise a greater or
alesser degree of professional scepticism by selecting the appropriate option.

‘The audited entity's management is unwiling to facilate
auditor access to key slectronic files for testing through the
use of computer assisted audit techniques (CAATS

‘The audited entity's managementis keen to implement
recommendations made by interal and exteral auditors





Task 17

[image: image18.png]Identify whether or not this would provide assurance on each of the following control objectives by
‘selecting the appropriate option.

Cutoff procedures are correctly applied

Obsolste inventory is minimised





Task 18

[image: image19.png]Identify the purpose of each of the following working papers by dragging each reason for preparation to
the appropriate working paper.




[image: image20.png]Working paper Reason for preparation

Determines the extent of
reliance on internal controls

‘Assessment of control risk

Determines the nature, tming

Performance materialty calculations and oxent o audit rocetures

Details of how the engagement partner's Discharges quality
review points have been cleared control responsibiliies





Task 19

[image: image21.png]Following the completion of audit testing in the external audit of Kildare Ltd, the total of unadjusted errors.
‘amounts to £20,000. The materiality threshold established by reference to key figures in the financial
statements has been set at £50,000. Ifthe financial statements were amended for these errors the profit
figure willall below the level that has to be achieved in order or the directors, who are minority shareholders,
to eam their bonuses.

Identify whether or not the profit figure should be amended for the unadjusted errors so that an
‘unmodified opinion on the financial statements can be issued by selecting the appropriate option.

[mences |l





Task 20

Attend inventory count on 27 June

Assess adequacy of procedures - counting in pairs, marking of items once counted, control over inventory movements etc

Check completeness of sequence of returned count sheets

Obtain numbers of last goods received and despatch records on 27 June and 30 June

Obtain FD’s workings relating to inventory adjustments

Re-perform FD’s calculations

Vouch movements in to goods received records between 27 and 30 June

Vouch movements out to despatch records between 27 and 30 June

Inspect goods returned records (in and out) between 27 and 30 June to ensure adjustment made

Ensure any inventory movements on 27 June are not double counted

Task 21

[image: image22.png]Which TWO of these purchase invoices should the audit junior definitely refer to his supervisor?

Apurchase invoice for an individually material amount, posted to purchases

Apurchase invoice from the company’s major shareholder, for an insignificant amount, at price.
‘doudle that paid to other suppliers

‘Anindvidually material invoice for the purchase of decorating equipment, posted to property, plant and
equipment

An individually material invoice for the payment of consultancy fees, posted to property, plant and
equipment





Task 22

[image: image23.png]Identify which of the following courses of action the audit junior should take by selecting the appropriate
option:

[Refer to supenvisor




Task 23

Consequences

Fraud and errors may occur and remain undetected

Nina could

· make an error when setting up standing data
· insert fictitious names on the payroll and divert funds into her own bank account
· inflate salaries (her own and/or colleagues).
Recommendations

Segregation of duties between payroll preparation and maintenance of standing data authorisation and initiation of payment

Separate passwords for standing data amendment and initiation of payment

Payroll authorisation to be evidenced by signature on the payroll

All amendments to standing data to be checked to FD’s notification

Standing data to be printed out periodically and checked to personnel records

Task 24

[image: image24.png]I1SA 265 Communicating deficiencies in internal control defines a significant deficiency in intemal control s a
deficiency or combination of Geficiencies in intemal control that,in the auditor's professional judgement is of
sufficient importance to meritthe attention of those charged with governance.

Identify whether or not the following deficiency in internal control is a significant deficiency by selecting
the appropriate option:

The identification of a raud, relating to an immaterial monetary amount, carried out by management of the
audited entity, which was not prevented by the entit's intemal conrol system.

significant deficiency [l





Task 25

[image: image25.png]Identify, for each of the following situations which have arisen at two unrelated audit clients, the type of audit
opinion on the financial statements that should be expressed by selecting the appropriate option:

(a) During the current reporting period, the tax authorities commenced a major enquiry into all aspects of the tax
affairs of Ebony Ltd. Until the enquiry is completed, itis not possible to estimate, with any reasonable degree
of certainty, any ulimate liabiity which may fall upon the company. Consequently,no liabiliy has been included
inthe financial statements. The directors have included a note, explaining the situation, in the financial
‘statements. The engagement pariner is satisfied that the note includes al the necessary disclosures for
users ofthe financial statements to understand the situation.

[unmodified opinion |3

(b) vory Ltd has included costs relating to the development of software usedn its business in it statement of
financial position. These costs include £250,000 of own Iabour capitalised, which is material o the financial
‘statements. The amount s based o the finance director's estimate of ime spent by employees on the.
development work. There are no time-sheets to support this estimate and there are no satisfactory audit
procedures to confirm that labour costs have been appropriately capitalised.

[Qualified opinion due to limitation on scope




Task 26

[image: image26.png]Which ONE of the following is the most appropriate action to be taken?

Norfolk LLP must obtain permission from Fulford Ltd to discuss its affairs with York LLP, but York LLP
need not obtain permission from Fulford Ltd

York LLP must obtain permission ffom Fulford Ltd to discuss its afairs with Norfolk LLP, but Norfolk
LLP need not obtain permission from Fulford Ltd

Both Norfolk LLP and York LLP must obtain permission from Fulford Ltd o discuss s affairs





Task 27

[image: image27.png]Identify whether each of the following statements reflects an objective of an external audit of financial
‘statements conducted under International Standards on Auditing (1SAs) by selecting the appropriate
option.

Express an opinion on the future viabiliy of the audited
enty.

Express an opinion on whether the management of the
‘audited entity has conducted the entity's affairs eficiently
and effectively.

Express an opinion on whether the financial statements
‘are prepared n accordance with an applicable financial
reporting framework.





Task 28

[image: image28.png]Which ONE of the following best describes the parties to whom the external auditor may be liable if the
external auditor is found guilty of professional negligence?

The sharenolders of the audited entity and no other party

The sharenolders of the audited entity and third pariies to whom a duty of care s established

All parties who have relied on the external auditor's reportin making an investment decision









Task 29

[image: image29.png]Complete the following statement in respect of the role of the International Auditing and Assurance.
Standards Board (IAASB) by selecting the appropriate option.

e 14ASE 1 responsite for s eting ucing stancards which sl s convergence o naonal and irmatonar snoara [l







Task 30

[image: image30.png]Identify whether or not each of the following changes willreduce detection risk by selecting the
‘appropriate option.

Areduction in the materiality threshold when planning the audit

Areduction in the level of professional scepticism

Performing substantive procedures on opening balances when
‘anew external auditor has been appointed





Task 31

[image: image31.png]Complete the following statements relating to materiality by selecting the appropriate option.

() When etermining percentages to be applied to figures in the financial statements to establish

materialiy thresholds, the percentage to be applied to profit before tax will normally be.
than the percentage applied to total revenue.

[migner TRl

{b) A misstatement which s confined to specific elements, accounts or items of the financial statements

would be considered [material butnot pervasive.Jigl]





Task 32

[image: image32.png]‘Complete the following statement in respect of the reliability of the information provided by the financial
‘controller by selecting the appropriate option.

The statement by the fnancialcontolle that nventores ha all been correcty valued is [not kel be refiable. [l





